
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

6th Month, 1st Week, 5th Day Ex. 5.3 Q # (1,2,3)

//// Answer the following questions: ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[
(i) What is the mean? Explain the methods of calculation of mean for mean

for ungrouped data. (4)

ZZZZzzzz‰‰‰‰HHHHìììì????))))¤¤¤¤////zzzz„„„„ññññZZZZŠŠŠŠÆÆÆÆaaaaZZZZzzzz‰‰‰‰ÆÆÆÆ§§§§jjjjÅÅÅÅzzzzŸŸŸŸssss####ZZZZzzzzggggiiii™™™™,,,,XXXX
(ii) Calculate the mean from the following information: (6)

(a) If D = x –140, ΣΣΣΣD = 500, and n = 10

(b) If U = , and n = 15  

ŠŠŠŠgggg̀`̀̀ffffssss¥¥¥¥ââââ]]]]ÐÐÐÐZZZZzzzz‰‰‰‰¥¥¥¥xxxx™™™™,,,,XXXX
n=10 ZZZZzzzzgggg D = x –140, ΣΣΣΣD = 500 ZZZZ¤¤¤¤//// (a)

n=15 ZZZZzzzzgggg ZZZZ¤¤¤¤//// (b)
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